(D) 1. Tadtile contact of the earth was important to him.
(A) ceremonid  (B) sendtive (C) rdevat (D) touchable

(C) 2 .Such gtudies help doctors determine the condtituents of the new drug before trying it out on
their patients.
(A) findings (B) dimendons (C) components (D) cognitions

(B) 3. A memorid was erected in veneration of the dead of both world wars.
(A) fearfulness (B) reverence (C) seniority (D) truth

(B) 4. Presdent Chen Shui Bian' spodtionin Tawan isakin to that of a ship captain.
(A) far from (B) like (C)thesameas (D) opposedto

(A) 5. The footsteps of fhousands of viditors had worn away the steps.
(A) eroded (B) fortified (C) added roughnessto (D) provided aglosson

(C) 6. High doses may be harmful, causng excitahility.
(A) beneficid (B) prominent (C) detrimentd (D) hodtile

(A) 7. Other qudlities are hidden from easy ingpection, such as persondity, hedth, wedth, talent,
intelligence, and the like.
(A) laent (B) dient (C) paramount (D) potentia

(D) 8. Not surprisingly, pragma lovers relationships rarely become worse.
(A) compenstee  (B) discriminate  (C) multiple (D) deteriorate

(A) 9. The association between depression and cancer till hed.
(A) wastrue (B) wasnot confirmed (C) wasirrdevant (D) was not studied

(B) 10. There continues to be sgnificant disagreement about the quaity and the fairness of our
imtdligence tests.
(A) subtle (B) subgtantid (C) minimized (D) devastating




(B) 11. Appearing on televison talk shows, crisscrossing the country on the campus lecture circuit,
___, fad theorigts become the darlings of our society before we forget and discard them
for others.

(A) inviting to be on the programs of important symposia
(B) invited to be on the programs of important symposia
(C) to beinvited on the programs of important symposia
(D) to be inviting on the programs of important symposia

(C) 12. Never again _____ credible the teachings of Genesis that every species had been created
whole and had come through the ages unchanged.
(A) Darwin accepted as  (B) Darwin could accept as (C) could Darwin accept as
(D) could Darwin accept

(D) 13. _,lIwill lend it to you with pleasure.
(A) You are provided by Friday return the book
(B) That provided you by Friday return the book
(C) Provided by you to return the book by Friday
(D) Provided you return the book by Friday

(B) 14. Unlike the intimate distance, where eye contact is awkward, the far phase of the socid

distance eye contact essential  otherwise communication islog.
(A)tomake (B) makes (C) making (D)ismade

(D) 15. Just as men and women agree on what mattersin choosing amate, so do they agree on what
meattersin maintaining amarriage, _ asliking one' s spouse as afriend, agreeing on
gods, and amutua concern for making the marriage work.

(A) liging firg such maiters (B) such mettersligt first
(C) liged firg such matters (D) such matters are listed first

(C) 16. If tetracycline is given to children younger than eight, it may permanently discolor their
teeth. If tetracycline is used to trest pregnant women, it will not harm the mother, but may
produce discolored teeth in their infants.

(A) An expectant woman.  (B) Anathlete.  (C) A six-year-old boy.
(D) A ten-year-old girl.




(A) 17. An excdlent, compelling overview and mise en question of subaltern studies. At once clear
and conceptually sophigticated, this book engagingly rehearses many of the basic issues,
texts, and problems of the field but isin no way derivative.

The passage is most probably an extract from
(A) abook review. (B) aguidebook. (C)acookery book. (D) afilm review

(C) 18. Sixty-three percent of dl Cdifornianslive in the 15 counties thet line the coast and many of
them will have red estate worth more than they ever hoped to accumulate.
According to the passage which of the following statementsisNOT inferred
(A) Everywhere dong Cdifornid s coast the people pressure is dmost tangible.
(B) Cdifornia’ s golden coast has gone money crazy.
(C) Most Cdifornians accumulate their wedth by hole-and-corner transactions.
(D) The value of red edtate dong Cdifornia s coadt is higher than the other parts of the
state.

(B) 19. Steven Spidberg was al of 26 when he was hired to direct Jaws At the age of 16, he had
made a 2% -hour feature for $500, partly bankrolled by his father, a computer executive.

According to the passage,

(A) Spielberg sfather provided him with the capita for Jaws

(B) Spidberg borrowed some capital from his father for one of his early films.

(C) Spielberg sfather, as a computer executive, has a peculiar fondness for Jaws.
(D) Spielberg spent 26 million dollars to produce Jaws.

(D) 20. In fact, the computer that has gone out of control  that proves to be smarter than the men
who areits masters  has become one of the nightmares of sciencefiction.
According to the passage,
(A) the computer has dominated the construction of the complex plot of science fiction.
(B) the computer is definitely smarter than the men who invent it.
(C) the computer is under the control of its magter in science fiction.
(D) itisanightmeare in science fiction that the computer finaly does become men' s*redl

madter.”

(A) 21. Americans are expected to continue spending much of their growing money and leisure on
travel. But they will be showing more restraint in accommodations and in the amount of
ground they try to cover, travel experts say.

It can be inferred that Americans will
(A) spend more money on recregtion.  (B) continue to work astravel experts.
(C) show more concen for accommodations. (D) travel more extengvely.




(C) 22. Until recently, deding with the problems of the young unemployed was alow-priority item
for most West European governments  and in some cases, it was completely ignored. But
now such officid blindnessis no longer possible. Reluctantly or not, bureauicrats are
beginning to search for at least temporary solutions.

This passage is mainly about
(A) the establishment of an interim government.  (B) the need of a trade union.
(C) the job opportunity. (D) the blindness of government officids.

(B) 23. Thisdoesn’ t mean, however, that some people are born to be sad and
(A) some people are born to be sad, and they don' t think about it.
(B) some people are born to be sad, and there is nothing they can do to change the situation.
(C) some people are born to be sad, and some people are born to be happy.
(D) some people are born to be sad, and they likeit.

(D) 24. Other than the Beverly Hills Supper Club fire in Kentucky in 1977, it has been four decades
snce more than 100 Americansdied in afire.
How many people died in the Beverly Hills Supper Club fire
(A) Morethan 100 people. (B) Fewer than 100 people.
(C) It depends. (D) We are not informed.

(C) 25. Until researchers find the parasite’ s Achilles _hed, the disease will continue to infect
millions
(A) cure (B) drength (C) weakness (D) hope

(D) 26. There are 60 minutes actud playing time, divided into four quarters, of which two comprise
ahdf. Playing time excludes stoppages and other interruptions. Thereisa 2 minute interval
between the periods of each half only an incoming substitute may enter the field. Thereis a
15-minute intervd at hdftime.
If the stoppages and other interruptions total 15 minutes, how much time does the game
take
(A) 75 minutes  (B) 77 minutes  (C) 92 minutes (D) 94 minutes

(C) 27. Many people are afraid of going to the dentist. There are anumber of reasons for thisfear.
One reason is that the patient cannot see what the dentist is doing. Another reason isthat the
patient (who is lying back) may fed very helpless. Socia factors may also increase a
person’ sfear. People may be influenced by the generd belief that dentists are scary. And
findly, many people
(A) do not like to brush their teeth very often.
(B) are afraid of going to the doctor as well.
(C) do not like the idea of ingruments in their mouths.
(D) like seeing the dentist” s shiny instruments.




(B) 28. Like physica anthropology, orthodontics (dentistry dedling with the irregularities of teeth)
triesto explain how and why men are different  unlike anthropology, it aso triesto correct
those differences for functiona or aesthetic reasons.

How does orthodontics differ from physica anthropology

(A) Physica anthropology dedls with the irregularities of teeth.

(B) Anthropology does not try to correct differences among men  orthodontics does.
(C) Orthodonticstries to explains why men are different  anthropology does not.

(D) Physicd anthropology is concerned with aesthetics  orthodonticsis not.

(A) 29. A third idand gppeared gradudly during a period of volcanic activity thet lasted over four
years. Later, the 1866 eruptions, which brought to Santorin those volcanologists who first
began archeological work there, enlarged the new idand through two new crater vents.
What enlarged the third idand
(A) the eruptions of 1866
(B) afour-year period of volcanic activity
(C) the activities of the men who came to study volcanoes
(D) archeologicd work, which created two new crater vents

(B) 30. Although the calls the $1,000 donation “ a very generous amount, especidly in thsestimes”
the president expresses hope that the project will attract additional funds from companies
and other sources so that it can continue beyond thisfirst year.

What does the president know about the project
(A) It will cogt only $1,000. (B) It cannot continue without additiona funding.
(C) Itis very specid. (D) Specia sources will support it.

IV

How the patient and the physcian communicate can influence the effectiveness of the
diagnoss and medicd trestment. Many patients are ructant to tell their physicians their symptoms.
The prestige and power of the physician intimidates many patients. On the other Side, physicians
have difficulties getting their patients to provide the proper information. The technica nature of
their questions does not mesh with the persona nature of theindividua’ s concerns. The rductance
can prevent the health-care giver from understanding the full nature of the problem, and often the
petient see the physcian as dl-knowing. Patients who do not understand their treatment cannot ask
questions about it. Many patients do not know how long they should take their medication and
many do not know the purpose of the drug. The use of professond jargon to communicate
technical information does not help the patient understand the trestment. Sometimes medica
practitioners use “ baby talk” and talk down to the patient. The number of patients seen makesiit
difficult for many physcians to determine how much each patient can understand. Petients often




congtruct their own theories about their illnesses that have little to do with redlity. The problem can
be dedlt with by training patients to ask more direct questions. Physicians who are taught smple
rules of courtesy, like saying hello, addressing the patient by name, and saying goodbye, are better
perceived by their patients.

One mgor consequence of the difficulties in communication between the physician and the
patient is the lack of compliance with medica advice. Noncompliance can include failing to meet
appointments, not following diets, discontinuing medication, and other behaviors. Compliance is
linked to the degree of satisfaction a patient has with the physician. Satisfied patients tend to
comply better than disstisfied patients. Patients with a positive view of the physicians may aso
have agreater sense of control, and they perceive themsalves asin akind of partnership rather than
merdly following advice. Physicians may themselves be motivated to keep the patient uninformed.
Apparently, physicians avoid telling patients when they are termindly ill. On the other hand, dmost
every survey shows that people want to be informed about the details of their illnesses. Patients
prefer to be wdl-informed, and their degree of satisfaction is linked to how well the physicianis
able to convey the nature of theillness. An increase in satisfaction tends to have a pogtive effect on
recuperation.

(D) 31. According to the passage, which dternative below isNOT a reason for communication
difficulties between doctor and patient
(A) Physcians may ask patients questions which are of a highly technicad nature.
(B) Physicians have difficulty encouraging patients to give helpful information.
(C) Pnydcians sometimes smplify things too much and talk down to the patient.
(D) Patients have the primary responsbility in discussing their medicd problems and they
are often unskilled in mitiating discussions about their problems.

(A) 32. Inthefirgt paragraph, the word “mesh” is closest in meaning to
(A) mix. (B) disaccord. (C) comply. (D) confuse.

(A) 33. According to the passage, most patients
(A) would like to be kept informed about their diseases.
(B) show no interest in their symptoms.
(C) do not care about physician’ s diagnosis.
(D) are likely to bresk appointments with their doctors.

(D) 34. By saying “medica practitionersuse * baby tak’ ”, the author is being
(A) witty.  (B) respectful. (C) endurable. (D) sarcadtic.




(C) 35. Compliance with aphydcian’ sadvice
(A) guarantees that the patient’ s medical problems will go away.
(B) helps the patient win a discount from the hospitd.
(C) improves communications between the patient and the physician.
(D) keeps the patient from coming back.

(B) 36. According to the passage, patient-physcian communication is, in many cases,
(A) not essentiad.  (B) not good enough.  (C) mutudly satisfactory.
(D) an obsolete topic.

(A) 37. Which of the following might a physician do to enhance a physcian-patient relaionship
(A) Be courteous and supportive toward the patient.
(B) Use very smpligtic explanations under dl circumstances.
(C) Explain diagnogsin professiond jargon.
(D) Encourage the patient to construct a persona theory to account for the reported
symptoms.

(B) 38. According to the passage, which of the following is NOT a benefit when a patient
hasenhanced satisfaction with his or her physician
(A) increased compliance with procedures and medications
(B) fewer respiratory infections
(C) reductions in anxiety
(D) better postoperative recovery

(D) 39. According to the passage, the accuracy with which physicians diagnose the nature of
medica problemsisrelated to
(A) the degree of patient suffering. (B) the degree of patient anxiety.
(C) the degree of patient discontent. (D) the degree of patient satisfaction.

(D) 40. Which of thefollowing isNOT likely to bring you the best possible hedth care
(A) Choose physicians who communicate well.
(B) Ask questions until you fully understand your treatment.
(C) Accept some responsibility for your trestment.
(D) Do anything necessary to gain the attention of the hedth-care providers.
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